Lesson 4-7 - Reinforce Understanding
Strategies to Subtract Decimals

Name
Review
Use partial differences to find the difference.
36.2—-498=7 Decompose 4.98 by place value
and subtract.
36.2—4=322
322—-09 =313

31.3- 008 =31.22
36.2—498= 3122

Find the difference. Show your work.
1. 753-906= 3. B42-1905=

2. 4082-57= 4. 4058-39=

5. Aveterinarian weighed a dog at a checkup. Its weight was
8.26 kllograms. When the dog came back for another checkup,
it welghed 9.55 kilograms. How much weight did the dog gain?
Show your work.
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